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2. B 920uL TAETAT 100uL #£AZE ImL AA¥EELEM, Y821, SLEIESE 340nm 4k 20s IR G{E Al FlT 80s
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ZEtEEE A SEITHE:
FRAESLAE T I E I EIE RN y = 1640x + 0.012; x AWOIGIE, v NFRAERIE (nmol/mL).
FEE: AW SRS NR Y 1.6nmol/mL.
(D LBEOREITH
LT A 2 (nmol/mg prot)=[(1640xAA+0.012) xV1]+(V1xCpr)=(1640xAA+0.012) +Cpr
TEFAMNE, BVEHARA R BCA EA SRR &,
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LBEHHEE A & E(mmol/g £ 5H)=[(1640xAA+0.012) xV1]+(WxV1+V2)=(1640xAA+0.012) ~W
(3) MR TR B4 P B
LB A 2 B (nmol/10%)=[(1640xAA+0.012)xV1]+(500xV 1+V2)=(1640xAA +0.012)+500
V1: MARBAERPEEARER, 0.1mL; V2: JIANIRBGAEAFR, 1mL; Cpr: FEAREFIKE, mg/mL;
W: FEARE, g5 500: SRS S5, 500 J5.



